Woodhouse Primary School: written methods
Year group: 4

Method: Short division (bus stop method)

Questions
Without remainders With remainders
[. 435 + 5 = . 337 + &4 =
2. 108 + 4 = 2. 821 + 6 =
3. k68 + 6 = 3. 425 + 8 =
L. 595 + 7 = 4. 691 + 7 =
5. 198 + 9 = 5. 427 + 9 =
6. 252 + 6 = 6. 975 + 6 =
/. 464 + 8 = 7. 498 + 8 =
8. 868 + 7/ = 8. 552 + 7 =
9. 891 + 9 = 9. 206 + 8 =
0. 784 + 7 = 20. 391 = 9 =




Answers

.

337 + 4 = 84 r |

[2.

821 + 6 = 126 r 5

3.

L25 + 8 = 53 r |

[,

69l + 7 =98 r 6

[5.

427 + 9 = L7 r &

[6.

975 + 6 = 162 r 3

[7.

498 + 8 = 62 r 2

8.

552 + 7 =78r 6

. 435 + 5 = 87
2. 108 = 4 = 27

3. 468 + 6 =78
L. 595 + 7 = 85
5. 198 =+ 9 = 22

6. 252 + 6 = 42
/. 464 + 8 = 58
8. 868 + 7 =124
9. 891 + 9 = 99

0. 784 = 7 =112

9.

206 + 8 = 25 r 6

20.391 =+ 9 = 43 r &




